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Question No.1

T @ hI9-7 =8 'JT9' T qaigart g?
T8 9 PI9-T7 1E 'TT9' T gafaar g7
A) O afR
fg
(B) O smei
3T
(€) O mitervf
Thepuf
(D) O 3Su=i=h Tt (Correct Answer) (Chosen option)
IRk 9t

Question No.2

TR g T R sitedt <t Iu-aieht 87

TR 570 @ forg el < Iu-sielt 82

(A) O @Rdt (Chosen option)
SR

(B) O wuedt
ol
C) O ==t
eS|

(D) O =19 & =¥E AT (Correct Answer)
9 @ & 7El

Question No.3

98 § I Yo SUIIHR el 872
378 @ B Yo ITTEHR el &2
(A) O gfdizr I/ s=a+ (Correct Answer) (Chosen option)
gieisr I ==
(B) O shara g
fferer et
(€©) O zaTds Si=ft
EQIECESIRl
(D) O e
g

Question No.4

T @ pia-IY 9T YR orer-ulRar fi 2mar §2
T @ pia-IY T YR oror-ulRar &t emar §2
(A) O T (Correct Answer)

K eicil

(B) O sieart
aiear

(€) O sferg (Chosen option)
FES]

D) O g?ssnzﬁ
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Question No.5

‘deT H BIF-91 UTg 87
‘deT § BF-91 U 87
(A) O a1 (Correct Answer) (Chosen option)
STHT
(B) O 8
ST
) O @&
et
(D) O &
&

Question No.6

Fagr g9 @ fradr su-aieh 82

Fragr 399 @ fradhr Iu-aieh &2

(A) O @Rdt (Chosen option)
SR

(B) O 3@t
ageft

(C) O &=t (Correct Answer)
ot

(D) O B
BT

Question No.7

AT T GERT ATH 3T 87

AT T GERT ATH T 87

A O g
&t

(B) O dzahar (Chosen option)
<fgehell

(C) O flgt=ar (Correct Answer)
Rigtaar

(0) O et
BELl

Question No.8

Tt HTST & TUH dYTHUT hi &2
Tt HTST & TUIH dYThUT hi 872

(A) O udsifer
ToTier
(B) O gua=
FEeE

(C) O w=ara= (Correct Answer)
hdraqd

(D) O wIfor (Chosen option)
orfort

Question No.9

T O 'RITST 2 T TGS T EN?
T d ‘HRTST % T Tgaa T gIm?
(A) O wrmet

Eaul
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B) O =TS
AT

(C) O @rTeTTa (Correct Answer) (Chosen option)
HITSIT

(D) O wrrst
RIS

Question No.10

&t autaren & e gurf fr g fhat 82
&t quiaTen & ot gurf & T fhat 82
(A) O 33 (Correct Answer)

33

(B) O 25 (Chosen option)
25

€) O 31
31

() O 29
29

Question No.11

T & T H 379 @ RH-91 HU 7d 82

T & G # 379 @ -1 Y 7d 87

(A) O wgslifg g A aHl ug MoTgld 8§
Tgsfe T & <t ug Mot g &

(B) O st # qdug &l TTHdT §id! § SR T UG 370 81d &
SregdfiTe # gdug Y TeTan sidl ¢ 3R 999 US Sead Bid &

() O avgsy w#TH # 3ifaw ug witor giar & (Correct Answer)
AT T | Sifaw ug 7T ghar &

(D) O 379 @ =S T8l (Chosen option)
T8 @ IS T

Question No.12

T8 9§ PIH-TT 2755 IT9 78l 82
T @ -7 e I g gl &2
A) O Euem

e

(B) O faetas (Chosen option)
IEEET

(€ O &=
ad

(D) O &ifS (Correct Answer)
&fs

Question No.13

98 @ 19T Ug cafoharad 93T el 82
T8 @ 19T Ug cafohaTad G Tel 82
A) O ™=

e
(B) O fewrema

e
(C) O wm

il

(D) O ugrs (Correct Answer) (Chosen option)
REAEC

Question No.14
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‘STET UgaT A S ' & forg 38 & qaffdes Iwgh et di-a1 87
‘STET UgaT A S Toh' & fog 3718 & Haifeh Iwg<h T -1 &7
A) O 3o

RENIC)
(B) O anr# (Correct Answer)

ST
(C) O 3rmg (Chosen option)

T
(D) O ™

STH

Question No.15

T § -9 g ' ol faed 82
0 & Si-aT e wgf & e 87
(A) O HTeTEAT

TR
(B) O 3eirgT

ST

(C) O fHar (Correct Answer) (Chosen option)
et

(D) O wten
efter

Question No.16

"R It STERT 39 AYenifh @ @ aref &7
"R It STERT 39 Atenif<h o o aref &7
(A) O &I @l gemtfrd ser
R} et UemTfRYd AT
(B) O 3rrcH-geh1 (Chosen option)
SATeH-TRIR

(C) O orusft 3R 1 3= (Correct Answer)
SOt R = |

(D) O =99 i &
5d G aig T

Question No.17

‘3T 3R INT T T ford gl ST &2
‘31T 3R IAT T hid fhd ehgT STaT 872
(A) O ARa=TelTet Tt
ARG agaa!
(B) O wmurdt f¥ig fRamr (Correct Answer) (Chosen option)
IR &g e
(©) O Ammga
A
(D) O frrem
BN

Question No.18

99 9 pfad &g @ A H-91 T8l 87
T § i< B Gl 9 -9 T8 82
(A) O #gur
TEEROT
(B) O Igemmerdt
EEREIN]
(C) O =A== (Correct Answer)
HATa<
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(D) O Fuwrert (Chosen option)
FUEIeRt

Question No.19

frfafea d P g a-ar g?
e & fFdwe fig s &2
(A) O - (Correct Answer)

®) O *
© O !
!

(D) O " (Chosen option)

Question No.20

99 @ -9 I G 87
H § -9 I G 87
(A) O < &t haa agl &
BERNEEEERR
(B) O agl dhact at AT &t 31
gl dhae &t AT & F1
(C) O Hawagiaant I
hael gl &t @nT 1
(D) O agf ehaet gt w1 A1 (Correct Answer) (Chosen option)
gl chael &1 T A1

Question No.21

"Rl 7 Swon I et e § See IR T g?
"HRErHsN 7 ST ' i FHaT F e IR R E?
(A) O Tt = givon &gl
gl 7 gion &gt
(B) O w=msi=it & gRr gtwom & 7 (Correct Answer) (Chosen option)
A & R atvoT 6 1
() O w7 =iy famar
T A w9 femar
(D) O Tt Bifdd aed §
T gifvd ad §

Question No.22

T 9 TuraTadh fARwoT ShiH-aT 82
T 9 TUTaTaeh AT ShiH-aT 82
A) O W=
e
(B) O @
Jar
() O dera
drer-ar
(D) O 3SuwRi=h Tt (Correct Answer) (Chosen option)
IWRIH It

Question No.23

79 § TehHh fohaT ohT ISTERUT hIF-TT 82

T @ Geptich fohaT ohT ISTERUT Shi=-4T &7

(A) O <o 9gd vt &reaT & (Chosen option)
s g A AT 8
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(B) O T\ AV dreara
M o el &

(€) O #gTE@?
Hig @ g

(D) O §ig= a1 @raT & (Correct Answer)
g FeT @A 8

Question No.24

0 @ -7 21eg "w@refiaar o gafgar &2
T @ I9-7 g ‘@I & ggigar §?
(A) O Fmogar

T
B) O w@=dedr

sl
() O reAfIRar

SreAfARar

(D) O Za=ar (Correct Answer) (Chosen option)
wesrdr

Question No.25

'R & g AT § 7
'R & eI AT § SN?
(A) O it greal & TR & o &
St 2ree & o & arrd §
(B) O i h A & oM §
St greel & mer F oima &
() O it fawnt & fieTd-geid & (Chosen option)
Sit forenf & fea-gpea &
(D) O =<z & oftr deieyr TuTfe @ & (Correct Answer)
ereg oh off=r Hejer Tunfud aea @

Question No.26

3T @ i9-g7 W= ‘5T @ faew 82
TH § -7 21eg ‘8T ot faend &7
(A) O aperifa
sperifa
(B) O wifa
hifar
(C) O aifgdr (Correct Answer) (Chosen option)
arfgar
(D) O wfasrifa
ufderifa

Question No.27

0T 7 h 39T 39 @ @i &2
HSUT TG & 3adT 30 O i 872
(A) O @mea (Chosen option)
e
(B) O wierd
Tierd
(€) O =g=
RS

(D) O a# (Correct Answer)
aHq

Question No.28
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TS @t I &' a1 H hi=-OT hIReh &7
TR ot G &' AT | hI-TT HRE 87
(A) O G¥uer &Reh (Correct Answer) (Chosen option)
TS SRR
(B) O sifemeor sRep
SAHIOT HRE
(C) O U &HRH
FROT HRb
(D) O 3HUIGH hRReh
3TUTGH hReh

Question No.29

‘I T AR AR Uik fohg eiadh &t 82
‘I T AR HHTGIIHRA! Uik fhT e & 82
A) O srwmdifera

e
(B) O e fay

hera g

(C) O faamryg (Chosen option)
[ERIEIRS

(D) O st (Correct Answer)
Sag

Question No.30

T8 Y PI-T7 275 'HRd' T ST ereg 87
T8 Q PIH-TT7 T8 'R’ T ST 2Teg &7
A) O fRUg

faRug
B) O HruRo

JqIYRoT
) O wRrREMT

HREMT

(D) O =aram™ (Correct Answer) (Chosen option)
qraH

Question No.31

A S W & ATy 394 & fohgenT SaTgRT 87
B ST W &' TRy 3 & fReRT 3aTeRT 82
(A) O rquf od &7 (Chosen option)
3o o3t T
(B) O HM™g ¥ et
I ¥ T
() O dfgry a@ar
TfTey o a1
(D) O 31r&= 9 AT (Correct Answer)
STEA Yl T

Question No.32

sffetTet et St fohT Iu=ITT & folg o TR YREhR U §Q?
offTeT ST o fondl Iu=am & fAIY g IR qREAR UT §Q?2
(A) O It arél ar gest
Tt arél g
(B) O T g=amt (Correct Answer) (Chosen option)
I TR

(C) O g™




Adda247

STATIITH

(D) O AR &1 ¥
fasmqR & &

Question No.33

for iR 7 widat o1 o quiigere @ v 82
fora iR 7 widat 1 o quiieRd T 82
(A) O sy
[EEEE
(B) O HIRieRR g[erT 34T (Chosen option)
THTRIERR [T Tl
() O uefem fisst
vefar fiss
(D) O Tt g arft (Correct Answer)
et § arsft

Question No.34

79 § itk Y erad’ g & TRR i &7
79 @ <fith & Erad’ g & IR i &7
(A) O oo wTgt (Correct Answer)

e wrgft
(B) O Fm™RsH (Chosen option)

AR
(€) O ISt=ara

oI aTed
(D) O gemiry R

FUEIBAEH

Question No.35

G i 6 o o off?

G i 6 o o o2

A) O Ry
NEEIC]

(B) O fAwTEY (Correct Answer)
s

(€) O st
araeft

(D) O dusTEl (Chosen option)
ol

Question No.36

T8 9 'erfier’ ree 4T 87
3T @ 'Srdier’ 2rsg T &7
A O dga

d&d
(B) O et

)
C) O da=H

|

(D) O fadsrst (Correct Answer) (Chosen option)
et

Question No.37

1 & e sreag ei=-ar1 8?
T @ (e 3reqg sia-a1 872
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(A) O agT (Chosen option)

EE
(B) O =&t

&

(C) O argR (Correct Answer)

e
© O e
gt

Case Study - 38 to 40
3BT g, g 1Y Harel & T e gfAg -

“Rieft & el 7ot Ik ford 78T & St el Y ®iE & IR @era ofk W &, afcr el il Big & A SR Sfia o1 R e fum 8, at ag off 3% & ol € St @z 3w
&S YT g3 &, 31 the Y SR IRT F& U § @R g1 UT # St Syaarel dcd 8, 39 I8 ST 6, ST 40 # T Y@ el &1 I8 Toi ol A& A it a1 81 18 81"

Question No.38

ORI TR o SR fSiaf 3 Srefett 7ot fohetch fordt 82
IURI<h TerieT & SgaR ieft & sraeft 7t fhedh ford €2
(A) O SiteeRAzEd g
it 2TeR F T8 §
® O siidamd
A% e
(€) O SHIRM A} &
S TR & B &
(D) O it ufksm & & (Correct Answer) (Chosen option)
Sit gRem id &

Question No.39

IR<h Terier # foRT 91 & HEd Sl I T 872
IR<h TerieT 7 foRE 91 o AEd Sl I T 82
A) O wmg
I
(B) O sflgw
Sl
(C) O == (Correct Answer) (Chosen option)
o

() O wgfa
upfr

Question No.40

ORI TR & AR ‘ST YU H W G ol &' arerT T T SRR 82
IURI<h TEIfeT o SIgER ‘St YU & TF G@ ol &' a1 § T A9 82
A) O dmrREHT

§HR g
(B) O ram & g

A A g
() O yudemr

T GehT
(D) O et ufke™ &= (Correct Answer) (Chosen option)

ST US| AT

BASIC LAW - CONSTITUTION AND GENERAL KNOWLEDGE - BASIC LAW - CONSTITUTION AND GENERAL KNOWLEDGE

Question No.1

Which section of the Motor Vehicles Act, 1988 prohibits travel without a pass or tickets?

AYex arg rfafam, 1988 & fohg aRT & Ted 9T U a1 feehe & am o R ufasia 82

(A) O Section 129
T 129
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(B) O Section 185 (Chosen option)
YRT 185

(C) O Section 124 (Correct Answer)
YRT 124

(D) O Section 180
R 180

Question No.2

Which of the following factors increases the risk of Coronary Artery Disease?
PRI B G PHI-TTehRE UREE =T T Al GawT TgTaT &2

(A) O Exercising Regularly
Fafd wu 9 @mm

(B) O Normal Body Mass Index
A RR §HH gadhich

(C) O sStress (Correct Answer) (Chosen option)
GEICE

(D) O Eating Balanced Diet
Fferd SMER @1

Question No.3

Animals, which are active during night, are called

3 ugy, st ufy & R afcha gia &, 32 gl ST 8
(A) O Auroral

9T It # Gieha ug] (STRRA)
(B) O Diurnal

R (erége)

(C) O Nocturnal (Correct Answer) (Chosen option)
AR (Aeee)

(D) O Boreal
g9 # B At Uy (SiRae)

Question No.4

What are the three words added to the preamble by the 42nd Constitutional Amendment Act 19762
427 gdenfaer Genes iffSd 1976 gRT vt & B9 @ i gz Site T 82

(A) O Socialist, Secular, Integrity (Correct Answer) (Chosen option)
, of fARder, erEean
(B) O Sovereign, Secular, Republic
o, g fRYe, o
(C) O Socialist, Democratic, Republic
(D) O Socialist, Secular, Republic
, ¥ RO, TTore

Question No.5

‘Solidarity and Stability' deal was signed by which of the following organisations?
'YehsledT 3R FORAT THEd R At & 9 fhg de+ gRT gxarer fahg g &2
(A) O Indian Ocean Rim Association (Chosen option)

fEe TR R Toiffuee

(B) O Gulf Cooperation Council (Correct Answer)
uRee

(C) O Shangai Cooperation Organisation
TETS ganT TS

(0) O BRICS
o

Question No.6

Petitions for the premature release of the prisoners as PIL before the Supreme Court.

T id & Trer Sl 6 gragd Rers & g o o dondya (MR aRen dsad |
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(A) O may be admitted
gRae foram ST gehat &

(B) O are treated
AT ST 8

(C) O shall be admitted
1faet foma ST

(D) O are not treated (Correct Answer) (Chosen option)
AT G STt 8

Question No.7

Which of the following was used as the main electronic component in the first generation computers?
UuH Nt & heR & = Faae e Hedh & &0 § fmfeifed 8 4 fohgent Iugi forar war ur?

(A) O Vacuum Tubes (Correct Answer) (Chosen option)
&
(B) O Microprocessor
ATSERITTERR

(C) O Integrated Circuits
3Eits afdhe

(D) O Transistors

Question No.8

How many subjects were originally present in the Union list of Indian Constitution?

IR Wider S du g § g1 wu G fhaw v &2

(&) O 100
100

(B) O 97 (Correct Answer) (Chosen option)
97

(¢) O 50
50

(D) O 25
25

Question No.9

Which is the traditional 'glove puppet show' of Kerala?
R I URURE '&&d aTell ShaYdel Q' i 91 872
(A) O Kundhei
EH
(B) O Pavakoothu (Correct Answer) (Chosen option)
uagy
(C) O Gombeyatta
pirspE

() O Yampuri

Question No.10

Which of the following sections of Cr.P.C deals with the victim compensation scheme?
gug ufckar dfgar (dremedteh) i Fmfafea arre & @ ew=-gt ey fifea gamast gt @ efda 82

(A) O Section 357 A (Correct Answer)
YRT 357 A

(B) O Section 280 A
YR 280 A

(C) O Section 437 A (Chosen option)
YRT 437 A

(D) O Section 287D
YRT 287 D

Question No.11

The Fair and Remunerative Price (FRP) of sugarcane is approved by
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T 1 IR 3R ATHHRT e (TWh. 3R ) ERT SAIfT BT 81
(A) O Agricultural Produce Market Committee (APMC)
Py IueT At wiafa (T ga)

(B) O National Agricultural Cooperative Marketing Federation of India Ltd (NAFED)
IR AL FY FgarR! fauue O fiffies (T1.9.gw.3.31)

(C) O Ccabinet Committee on Economic Affairs (CCEA) (Correct Answer) (Chosen option)
3ffer A« iR Ffae afafa (@@ de)

(D) O Food Corporation of India (FCI)
WRTT @ e (T, Et.er)

Question No.12

Where was the Khilafat Committee formed in March 1919?

T 1919 H fRAeha Ifafa sl 58 718 off?
(A) O Bombay (Correct Answer)
ar

(B) O Calcutta
Shelehll

(C) O Lucknow (Chosen option)
[SECEID

(D) O Madras
Ha"

Question No.13

Uttar Pradesh 'State Board Of Technical Education and Training' was set up in the year:

IR TR ST dch-1eht e 3R uferor i &Y o fhg af 7 i 8?2

(A) O 1980 (Chosen option)
1980

(B) O 1946
1946

(C) O 1958 (Correct Answer)
1958

() O 1983
1983

Question No.14

The Uttar Pradesh was formerly known as:

IR TR ol Ut R AT & ST ST o412

(A) O British Collected Provinces
fafesr Gerfera wia

(B) O Dutch India Provinces
T YR "id

(C) O United Provinces (Correct Answer)
Y Uid

(D) O East India Provinces (Chosen option)
gdf YIRa wid

Question No.15

Establishment of Animal Welfare Board of India is mandated under the provisions
IRAF UYFAUT SR WOAT & UGy & dgd siard 1
(A) O Forest Conservation Act, 1980
T gzefor Sifafam, 1980
(B) O Prevention of Cruelty to Animals Act, 1960 (Correct Answer) (Chosen option)
ug] gheat faror sffaas, 1960

(C) O Wwildlife (Protection) Act, 1972
gSitg (TReton) Afdfaw, 1972

(D) O Indian Forests Act, 1927
IR a9 sifdfaam, 1927

Question No.16
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"Signal" App was founded by whom among the following?

"rrer' Ou FA=farfaa & § fohads g wenfua fomar mar ar?
(A) O Moxie Marlinspike (Correct Answer) (Chosen option)
Tt mifefearser

(B) O Elon Musk
Tl A%k

(C) O Mark Zuckerberg
ATeh STehRat

(D) O Jeff Bezos
Sk el

Question No.17

The soil that is present over the piedmont plains such as Chos and Duars is
T SR gormd oY fifvug dei § Hielg a1 BT &1
(A) O Laterite soil (Chosen option)
AR AT
(B) O Red and Yellow soil
Tt 3R diteft et
(C) O Alluvial soil (Correct Answer)
STelle 7T
(D) O Black soil
Eacikeral

Question No.18

Which among the following Constitutional Amendment Acts made changes in ‘Article 45' of Indian Constitution?
frfafea 7 9 forg ddenfaes e sifafam 3 TR Gide & 'sigeds 45' | uRad- fhar?
(A) O 97th Amendment (Chosen option)
974t deite
(B) O 42nd Amendment
4231 Feie
(C) O 86th Amendment (Correct Answer)
86ar ente

(D) O 44th Amendment
44qt gLt

Question No.19

What is grouping of countries into regional clusters based on geographic proximity referred as?
enedT & STTUR WR &1 THgH A S0 1 TG T hgalldl 67

(A) O Socialism (Chosen option)
SEINEI

(B) O Imperialism
GIEINEI

(C) O Secularism
gifRuerdTaTe

(D) O Regionalism (Correct Answer)

Question No.20

The term ' Hot Pursuit' and ' Surgical Strike' are associated with
'gle Y 3R 'AfSiond TR’ T EREIRcH
(A) O manifestations of volcanic activity

wfafafar & snfawfq

(B) O Direct pursuit of a criminal suspect by Law Enforcement

I e ZRT Yeh ATORTTAeh Tferer el Tgel det et

(C) O Armed Action against terrorist attack (Correct Answer) (Chosen option)
HTdhdTE] gA & [RATE G HRars

(D) O Biodiversity hotspot
g fafderar glewie
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Question No.21

Who among the following propounded the concept of 'Rule of Law'?

frafafaa 3 @ fohem 'fafey amee (T o1 e’ <l SraeRon &t ufauTfea famar wm?
(A) O F.W. Taylor
. E9eY, ¢oR
(B) O Henri Fayol (Chosen option)
Thater

(C) O A.V. Dicey (Correct Answer)
Tt st

(D) O Max Weber
A JR

Question No.22
The term ' genocide' was coined by .
'SAEE (RUBR)" MZF __ ZRT T T AT
(A) O Jefferson
[GRTSE
(B) O Raphael Lemkin (Correct Answer) (Chosen option)
Athel AATRT

(C) O Eleanor Roosevelt
TR ToTdee

(D) O Thornberry
ARy

Question No.23

The "Central Bureau of Investigation" functions under the superintendence of:

‘ISR & orefierur & dgd wif awar 81
(A) O Ministry of Home Affairs (Chosen option)

g HATd
(B) O Ministry of Defence

& AT

(C) O Ministry of Personnel (Correct Answer)
AT

(D) O Ministry of External Affairs
et dae

Question No.24

The Central Public Service Commission was set up in the year:
FHEIT e JaT SRNT I T 7R o & i 18 of?

(A) O 1935 (Chosen option)
1935

(B) O 1861
1861

(©) O 1947
1947

(D) O 1926 (Correct Answer)
1926

Question No.25

Who has the authority to create new "All India Services"?

(A) O Parliament of India (Correct Answer) (Chosen option)
R hi TEHE

B) O Union Minister of Home Affairs
ETARE:El

(C) O Prime Minister of India
TR o g

(D) O President of India
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Question No.26

Section 66A of the Information Technology Act, 2000 was struck down as unconstitutional for being vague in the case of
T drenfihr sifafaas, 2000 6T 4RT 66A FI SRIE g & g & AT A ST SR faam T T

(A) O R. Gandhi v. Union of India
IR, el T YR "

(B) O shreya Singhal v. Union of India (Correct Answer)
2t ¥ a9 YR 99

(C) O Common Cause (A Regd. Society) v. Union of India (Chosen option)
RIA TSl (Teh USTigpd TS SHM R T

(D) O Romesh Thapar v State of Madras
2T ATR FATH HET I

Question No.27

What do the finger like outgrowths present in the inner walls of the small intestine known as?
BIE 31id T SridRen SarT # IURRAT STferd ST ST T RIT gl ST 87
(A) O Villi (Correct Answer) (Chosen option)

fastt

(B) O Intestinal juices
3

(€) O Rumen
T2 STHIRRT (FH07)

(D) O Pierce canal
ot &ttt

Question No.28

The Protection of Children from Sexual Offences Act, 2012 was amended recently in
T SroRTe & sl ot TReTuT rfAfaw, 2012 T g & & o Gener forar ma A

(A O 2017
2017

(B) O 2019 (Correct Answer)
2019

€ O 2020
2020

(D) O 2018 (Chosen option)
2018

Question No.29

What is the "term of office" of a member elected to the Rajya Sabha?
ST AT & foIg T Y 9&R & "G Al Shfehter” fohaT giar 82

(A) O 10years
10 a¢f

(B) O 6 years (Correct Answer) (Chosen option)
6 e

(C) O 5years
59y

(D) O 4years
4y

Question No.30

Which of the following is correct under the Information Technology Act?

A) Electronic Gazette is deemed to satisfy the publication requirement of any government rules

B) Electronic Gazette is mandatory

C)Electronic Gazette is not deemed to satisfy the publication requirement of any government rules
e Hienfieht sifafas & aga Fefofea 4 @ aa-ar gt 82

A) ZerargiTren IoTu ot foRelt off TR Tl el IR STTaRaehdT SRt QT et aTelT HIATT ST &

B) gareifAich TrsTu Stfard &

C) gareif-ich TroTus aht foheft oft TerY el Y UepT= STasachar et URT e aTelt HTHT &l SirdT &
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(A) O A (Correct Answer)
A

B O B
B

©Oc

C

(D) O ABand C (Chosen option)
AB3RC

Question No.31

Which of the following were responsible for the lack of protection of Tribal Lands after Independence of India?
A) Mortgaging of land to moneylenders due to indebtedness and poverty
B) Acquisition of tribal land for irrigation, dams and other public purposes
C) Sale of lands done by poor tribal
TR T WA & F1G SIS fH S TR & 17a o forg Ffafad § @ e fSeier &2
A) FORRAT 3R T ch HROT HIEHRT o 19 fH F=e 3@
B) f¥=md, sier ok ey Ardsifes Igat & forg st offfr ar aifdurgor
C) TRia Mfeaneral gRT &1 73 offH & farchr
A)O C
C
B) O BandC
B3R C

(C) O Aand B (Correct Answer) (Chosen option)
ASRB

OO A
A

Question No.32

Which of the following is covered under Section 80 D of the Income Tax Act, 19617
3maes fAfSTH, 1961 Fit 4RT 80 D & ded Ffafad & § si=-ar amar g2

(A) O Reimbursement of medical expenses (Chosen option)
Riferea o & ufagfd

(B) O Medical Insurance Premium (Correct Answer)

(C) O Medical treatment of a dependant with disability
e enfsra a1 RifereT ITaR

(D) O Repayment of loan taken for Higher education
I=q fR1er g fog T4 o1 & gAraE

Question No.33

Which ministry conducts census in India?

IRA H ShH-GHATAT FATUMT Tatferd e 82

(A) O Ministry of Home Affairs (Correct Answer) (Chosen option)
e HaATeTd

(B) O Ministry of Education
e wATera

(C) O Ministry of Finance
ot e

(D) O Ministry of Social Justice and Women Empowerment

qrTfSien =T 3R Afger GRRhRROT HATer

Question No.34

Under which article of the Indian Constitution "Consolidated Fund of India" was constituted?

IR Tfder & fhg Srgede & dgd "R &1 TRfchd siw" ifda fmam ma ar?

(A) O Article 366
IR 366

(B) O Article 269
ITDE 269

(C) O Article 256
BT 256

O
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(D) Article 266 (Correct Answer) (Chosen option)

SIS 266

Question No.35

New Caledonia rejects independence from

ST O AT Pl SRR HT B

(A) O UK
&

(B) O Germany
SR

(C) O France (Correct Answer)
i

(D) O Netherlands (Chosen option)
RICSCET]

=3

Question No.36

How many functional items have been placed in the 11th Schedule of the Indian Constitution?

IRt e & 11 st # fohan sraferes ve @ 7y &2
(A) O 29 (Correct Answer) (Chosen option)
29
(B) O 39
39
€) O 59
59
D) O 20
20

Question No.37

What is the term of office of the Chief Election Commissioner?

T afas Sg<h & Ug &l ST T 87

(A) O 6 years or until they attain the age of 65 whichever is earlier (Correct Answer) (Chosen option)

6 aef a1 519 Ak & 65 e I Y U TE H A, St uge g

(B) O 6 years or until they attain the age of 70 whichever is earlier
6 a¥ a1 57 a9k 3 70 aY I 31T U Tel R &id, Sl Uget gt

(C) O 10 years or until they attain the age of 65 whichever is earlier
10 9 a1 579 ak d 65 T Y Y U &1 e A, S Uget &t

(D) O 5years or until they attain the age of 65 whichever is earlier
5 ¥ a1 57 a9k 3 65 aY I 3G UTe -Tel X oid, il Uget gt

Question No.38

Which Act was formulated to end the trade monopoly of the East India Company in India?
ARA § 3% 3fear o) & ATUR ThTfAhR hl T e o forg fohe sifafaae 1 o= fohar mar am?
(A) O Charter Act of 1853

1853 &1 TR Yo

(B) O Charter Act of 1833
1833 &7 IR Yo

(C) O Indian Council Act, 1909
RTT gRkwg srfafas, 1909

(D) O Charter Act of 1813 (Correct Answer) (Chosen option)
1813 <Rl TR TeRE

Question No.39

With reference to Indian Constitution, The 'survey for revenue purposes' is a subject matter of
IR Gigu & Fed 7, Ioa e h fogadaor & fAwaasg 81

(A) O state List (Correct Answer)
I gt

(B) O Union List
Tu el

(C) O Concurrent List (Chosen option)
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FagdT gt

(D) O Both Union and State List
e 3fR 3= g &t

Question No.40

Which schedule of the Indian Constitution contains provisions regrading the 'powers and responsibilities of Municipalities'?

IR Hider Sl fohe et # TR urferaralt e rfhal ok oAl @ Hefed ureem 82
(A) O 4th Schedule

el st
(B) O 9th Schedule
i
(C) O 6th Schedule
EX

(D) O 12th Schedule (Correct Answer) (Chosen option)

NUMERICAL AND MENTAL ABILITY TEST - NUMERICAL AND MENTAL ABILITY TEST

Question No.1

What value should come in the place of question mark (?) in the following question:
5+ (4v5)2=7-(v5)2 + 193
fAafafed uy & uy g (?) & WH R Fa1 7149 81T A
5+ (4v5)%2=?-(v5)2+193
A) O -105
-105
(8) O -107
-107
(€) O -101
-101

(D) O -103 (Correct Answer) (Chosen option)
-103

Question No.2

Mr.Jacob invested Rs.17,500 divided into two different schemes A and B at simple interest rate of 20% and 7.5% respectively. If the total amount of the
interest earned in 2 years is Rs.3775, What was the amount invested in scheme A. (In Rs.)

oft Sl  THAM: 20% 3R 7.5% Y FIERUT AT & UR & SHAT-37e7T Jrer1ai A 3R B # Rs. 17,500 a1 fAder foman| af 2 aut & ifSia anerror sarst 6 gt AfA Rs.37
TrorT A § fdsr i 8 afy @ oft? (Rs. )

(A) O 6600
6600

(B) O 5600 (Chosen option)
5600

(C) O 4600 (Correct Answer)
4600

(D) O 3600
3600

Question No.3

Today is Sunday. After 34 days, it will be:

3TST AR g1 34 At are, gl

(A) O Saturday (Correct Answer) (Chosen option)
rfar

(B) O Friday
AhaR

(C) O Sunday
EEIN

(D) O Thursday

Question No.4

A train takes 61 seconds to cross a bridge of length 99 m. If the same train takes 52 seconds to cross a man standing on the bridge, find the length of tl
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(In'm)
Teh ¢l 99 m T G &l UR &eA B 61 Tehs ol GHT 71T &1 IS T6T ¢ I IR @S HAfh Sl UR e H 52 Uhs oidll 8, dt & i wia1g A1d el (m H)
(A) O 572 (Correct Answer) (Chosen option)

572

(B8) O 592
592
€ O 582
582
(D) O 602
602

Question No.5

When the article sold at the rate of Rs.20070 earned a profit of 23% more than that of the loss incurred when the same article sold at the rate of Rs.100:
the cost price of the article. (In Rs.)

Teh g%g ol 519 Rs.20070 o Hed TR ST 1T 8, ot €1 a%g ol Rs.10035 & a2 911 § g1 areft g1 & 23% S1fdeh A1eT UTed gl & | a%g ol 3 e 1d hifoig| (Rs. A

(A) O 15535
15535

(8) O 16535
16535

(C) O 17535 (Chosen option)
17535

(D) O 14535 (Correct Answer)
14535

Question No.6

Select the appropriate set of sequence of mathematical operators to replace all * sign in the following equation & hence to balance it.

100*10*20* 30
frAfaf@a getezor & gt * et afaenfia @ auT 58 Sgford e & iy TN HerRent 3 SrgshH & IUY<h GH=ad ol 99 Hifog|

100*10*20* 30

(A) O =+ =(Correct Answer) (Chosen option)
T+ =

(8) O +x=
= X=

(© O x+=

X+ =

(D) O -x=

-X =

Question No.7

Which of the following sets of signs should be used to replace * in the following?
96*6*2=2%9%4
fA=fafaa # * at ufaenfia & & fog Rigl & fha gz o1 Iugi frar ST anfee?
96*6*2=2*9%4
A)O x+=-
X+ +-
(B) O x-+x
X -+ X
C) O +x+x
=X+ X
(D) O = -x-(Correct Answer) (Chosen option)

Fox-

Question No.8

What will be written in the place of question mark in the given series?
C3J10S19D4?16
& S sjzgen 7 wafRg & W R & forat Se?
C3J10S19D4?16
A)O o
0

B)O M
M
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(C) O P (Correct Answer) (Chosen option)
P

©)O N
N

Question No.9

In this question, a statement is given followed by two conclusions numbered i and ii. You have to assume everything in the statement to be true, then cc
the two conclusions together and decide which of them logically follows beyond a reasonable doubt from the information given in the statement.

Statement:

Sachin scored a total of 200 in 2 matches.
Conclusion:

i) Sachin hit 2 centuries

if) Sachin hit 4 half centuries

Choose the appropriate one from the following options

(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or i follows

(D) Neither i nor ii follows and

(E) Both i and ii follow.

39 U H, Top ey SR 39 a5 | o i § IeeAifchd &t s Gy 71q &1 e § <€ 1S IHRd YT ot 9 A §U Uk U1 S SRt IR AR &Y ofik fuiRa & fh

HH-a1feRy Y F & TS I A1 G Ueg @ IR aTfcher ¥ ¥ STERUT el B

Y
g = 2 &1 & 200 I s91QI
fArsepef:

i) I 7 2 rde SA1g)

i) Tfe 7 4 srefarde a9

frfofea et & & Swgeh faeed T+
(A) et frser | SR el &
(B) haret fsem i SIEROT el &
(C) T Y ISR i AT i STTEROT el &
(D) 7 & fosenef i 3R 7 i SITERUT e &
(E) 2 freenef i SR i STaRoT ohedl €
(&) O B

B
(B) O D (Correct Answer)

D
(C) O C (Chosen option)

C

OO A
A

Question No.10

Find the surface area of the sphere whose radius is 22cm and 1t = 3.14 (In cm?).
Tk Titel T JiT Sthel TTd e forgreht B 22 em ek = 3.14 81 (cm?2 #)
(A) O 6179.04
6179.04
(B) O 6079.04 (Correct Answer) (Chosen option)
6079.04
(€) O 6279.4
6279.4

(D) O 6379.04
6379.04

Question No.11

4 litres are drawn from a cask full of wine and is then filled with water. This operation is performed once more. The ratio of the quantity of wine now left
to that of the water is 16:9. How much wine the cask hold originally? (In litres) !
RTE T R U 7 T 4 ez R Feprett STt & SR A I8 it § oR e Sirar €1 98 fohaT Uen IR fOhe ot S1Teft &1 9 & <1W SRTaT <Rl AT et UT=it ehl A1 § S1aTd 16:¢

o &0 ¢ fohe T aR1E o1? (Ffiex #)
(A) O 20 (Correct Answer) (Chosen option)
20
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(B) O 16
16

© O 14
14

(D) O 18
18

Question No.12

Select the combination of numbers so that letters arranged accordingly will form a meaningful word.

1.G2.L3.R4.ES5. A
AT & I HAIST T 99 hiforg Sieh SFUR Tafedd e IR I 18R, Ten Arefen 218 ST |

5
4 (Correct Answer) (Chosen option)
4

Question No.13
Find the units digit in (152)%7 x (143)82,
(152)57 x (143)82 & geTE 3ich a1 UalT TG |
(A) O 8 (Correct Answer) (Chosen option)
B) O
©) O

() O

AN OO NMN ©

Question No.14

Ajay rows 52.5 kmph in still water. If the river is running at 17.5 kmph, it takes him 90 minutes to row to a place and back. How far is the place from the
point? (In km)
3ot AR urit & 52.5 kmph & 71fa & 919 getmar &1 afe 7t 17.5 kmph & 1fd @ sgat €, aY I8 Ueh WU R A19 & ST R a1fg 311+ & forg 90 e ohra &1 ag T ¢
9 forat g2 82 (km #)
A O 29
29
(B) O 35 (Correct Answer) (Chosen option)
35
(€) O 31
31
D) O 33
33

Case Study - 15to 16
Directions: Study the following bar graph carefully to answer the questions given below:
The graph represents the number of students studying in different Schools from various classes (number in hundreds)
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41 4

42
34 35
0
30 - 7
25 3 23
20

20
15
10

5

0

w X ¥ z

mSTDVIl m3TDX =mSTDXI

Question No.15

What is the difference between the total number of students studying in School Y and those studying in School W?
R Y # ug @ fenffat &t gt T ofk et W  Ug 3@ fenffi st ot T & &t foha Siek 82
(A) O 2500

2500

(8) O 2800
2800

(c) O 3300
3300

(D) O 3000 (Correct Answer) (Chosen option)
3000

Question No.16

Find the total number of students (in hundreds) studying std XII from all the schools.
Toft Tt @ wusE Xl F ug 3 fenfat i o e (Senst #) F1d g
(A) O 125
125
(B) O 139 (Correct Answer) (Chosen option)
139
(€) O 144
144
D) O 115
115

Question No.17

If the first term is 64 and the common ratio is 3/4, what will be the 4th term of the GP?
I uger ug 64 & SR T1d srguTa 3/4 8, at Ui Soft (GP) T e ug R ghm?
A O 25
25
B) O 31
31
) O 29
29

(D) O 27 (Correct Answer) (Chosen option)
27

Question No.18

The selling price of the table is Rs.24650 after a discount of 15%. If the cost price is 80% of the marked price, then what is the cost price? (In Rs.)
Teh AT T faehd G 15% Y Be o a1G Rs.24650 81 AT o 7w, Sifchd He &1 80% &, dt o Jed T 87 (Rs. #)
(A) O 20200

20200

(B) O 23200 (Correct Answer) (Chosen option)
23200

(©) O 22200
22200

(D) O 21200
21200
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Question No.19

Directions:
Using the data from the graph answer the question below:
Find the total number of males from sector P and females from sector R together.

Number of Employees working in 5 different

sector Ratio of number of male and
900 250 female employees
BOO

- e = Male Female
700 650 " ) 5
600 = - :
500
400 R 9 8
300 § 7 8
200 1 3 5
100

0

P Q R 5 T
fRam-fAdar:

IG T SATehe! T STTNT chech =1 f&T 7T U a1 SR 2
Yoy P 9 ool &R daex R § Afgatradt &t g Gt 7 hifeig |

Number of Employees working in 5 different

sector Ratio of number of male and
female employees

]
=]

0 850
20O

Bl 700 i Male Female
700 650 P 4 7
600 Q 5 5
50
400 R ? 8
300 ) 7 8
200 T 3 5
100

0

p a R 5 T

(A) O 750 (Chosen option)
750

(B) O 700 (Correct Answer)
700

(€ O 850
850

(D) O 800
800

Case Study - 20 to 21
Directions: In the following questions, few statements are given and these statements are followed by two conclusions numbered i and ii. You have to t
statements to be true even if they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given conclt
follows from the given statements, disregarding commonly known facts.
Choose,
(A) Only (i) conclusion follows
(B) Only (ii) conclusion follows
(C) Neither (i) nor (ii) follows
(D) Both (i) and (ii) follow
(E) Either (i) or (ii) follows

Question No.20

Statements:
All Bats are balls.
Some balls are Balloons.

Conclusions:

i) Some Bats are Balloons.
if) Some balls are Bats.
hY:

goft seet, WS &1
S T, TSR El

fArsepe:
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) S T, TR &
i) $© 7S, T &1

) O
®) O
©) O
o) O

(Correct Answer) (Chosen option)

WwW >> mm OO

GET IT ON

Google Play

Question No.21

Statements:

All oaks are banyans.
All banyans are palms.
All palms are trees.

Conclusions:

i) All oaks are palms.

i) All banyans are trees.
CREH

g} I, e &
goft e, arg 81
goft 18, gE B

A

i) ooft s, S B
ii) T+t ae, g &
) O A

B O
© O
(D) O

(Correct Answer) (Chosen option)

U OO0 mw >

Question No.22

score : uftyp :: trade : ??
usfRig @l 39 ey @ nfdzenfia HifSie St wem g & AR ah 1 SIgERoTr e 81
score : uftyp :: trade : ??
(A) O vufkp (Correct Answer) (Chosen option)
vufkp
B) O vwekp
vwekp
(C) O vwfpk
vwfpk
(D) O uvfkp
uvfkp

Replace the question mark with an option that follows the same logic applied in the first pair.

Question No.23

RIP : SKS :: FER: ??
gsifag @l 39 ey & ufoRenfia SRIfSIg St oo g & AN aeh o SIgERUT el 51
RIP: SKS :: FER: ??
(A) O GHU
GHU
(B) O GGU (Correct Answer) (Chosen option)
GGU
(¢) O GHV
GHV
(D) O GUG
GUG

Replace the question mark with an option that follows the same logic applied in the first pair.
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Question No.24

A grocer has a sale of Rs.6635, Rs.7127, Rs.7055, Rs.7430 and Rs.6462 for 5 consecutive months. How much sale must he have in the sixth month so
gets an average sale of Rs.67007? (In Rs.)

Qeh fohert ot gepT H eI 5 i # Rs.6635, Rs.7127, Rs.7055,Rs.7430 3R Rs.6462 it fshl g1 &8 Ael & Iueh! fasht fohaht gt =nfay afes It sitera far
Rs.6700 87 (Rs. ®)
(A O 5291
5291
(8) O 5191
5191
(C) O 5391 (Chosen option)
5391

(D) O 5491 (Correct Answer)
5491

Question No.25

A data card when sold for Rs.18290 fetches a profit of 18%. Find the cost price of the data card. (In Rs.)
S Uk ST IS St Rs. 18290 F ST 1T & Y 18% <hT <A1 UTWA &1l &1 ST 1< T ohd Hed T hiforg | (Rs. H)

(A) O 14500
14500

(8) O 16500
16500

(C) O 15500 (Correct Answer) (Chosen option)
15500

() O 13500
13500

Question No.26

Three pipes A, B and C can fill a cistern in 270 hours. After working together for 90 hours, C is closed, then A and B filled the remaining part in 270 hours
number of hours taken by C required to fill the cistern.
I U5y A, B 3fR C Tk &Rt &t 270 Hel & YR Tehd &1 90 ©e deh Ueh 1Y GelT T&- & 16, C i dig 3 f&am mam, fi A 8k B = 1w 9T &t 270 Hel 7 o fean| Sk
C gR1 foiq 7 €t <l Tt F1d Hhiforg |
(A) O 800
800
(B) O 810 (Correct Answer) (Chosen option)
810
() O 820
820
) O 790
790

Question No.27

The amount doubles jtself under Compound interest in 15 years. In how many years will it become 512 times of it?
15 gt & Tehqfeg TS & dgd A SO Y T GREAT 81 ST 1 fohd= st & Tg ST+ 317 < 512 T gt Sgeit?
(A) O 145
145
(B) O 135 (Correct Answer) (Chosen option)
135
(€) O 125
125
(D) O 155
155

Question No.28

5/6 of a number is 645, find 9/20 of the same number?
oY T & 5/6 1 A 645 §, at St It o1 9/20 F1d FifSil
(A) O 3383

338.3

(8) O 328.3
3283

(C) O 348.3 (Correct Answer) (Chosen option)
348.3
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(D) O 3583
358.3

Question No.29

Three friends A, B, C invested in a business in the ratio of 8:5:6. After 6 months C withdraw half of his capital. Find the profit earned by C out of the total
Rs.112000. (In Rs.)
f= St A, B, C 7 8: 5: 6 & SUTd H Ueh Aaemd § 3T fRar| 6 78 & a1g C = 7o) ameft it ferer «ftl Rs. 112000 & e a1+ & & C gRT S1fSfa a7 71 hifSig

(A) O 29000
29000

(B) O 28800 (Correct Answer) (Chosen option)
28800

(c) O 28900
28900

(D) O 29100
29100

Question No.30

What is the least number that would be added to 78489656 so that the resultant number is divisible by 9?
78489656 B ohiH-TT Jad ST T et STTST SITYA difeh URumHY Tear 9 & farsg g1?

A O 4
4

B O 2
2

(C) O 1 (Correct Answer) (Chosen option)
1

D) O 3
3

Question No.31

If a mirror is placed on the shaded line, then which of the following options is the mirror image of the given figure?

& Yeh GUUT ol BITfchd T TR T ST &, T (el # § hi--aliaehed &f 15 STehid i qUUT Hfdfore g2

SNAMET
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SNAREI

UARNET
CUADNET
"SNA431
SNA43]1

¢NAA4ET
¢NAAET

Question No.32

B) O

(D) O

A can do a piece of work in 1695 days. B is 25% more efficient than A. Find the number of days taken by B to do the same piece of work.
A, 1695 Rt & Yen s e ekl §1 B, A I o= | 25% 31fren H2re 1 3T i aht et oh folg B gRT forg Q&A1 et deeam Ird fifSig|

(A) O 1356 (Correct Answer) (Chosen option)
1356

(B) O 1256
1256

(©) O 1456
1456

() O 1556
1556

Question No.33

Directions:
Using the data from the graph answer the question below:
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Find the number of males from sector Q.

Number of Employees working in 5 different

sector Ratio of number of male and
i . female employees
00
200 B 2o Male Female
700 650 P 4 7
600 Q 5 9
500
R 9 8
300 § 7 8
200 T 3 5
100
o
P Q R 5 T
fReam-fAdar:
ST Y 3R] T IUTNT Fech -1 f&T 7T U9y b1 STR &
Yoz Q § Yo i Tt A Hiferg
Number of Employees working in 5 different
sector Ratic of number of male and
X ! female employees
800
800 e Il Male Female
700 650 P 4 7
600 Q 5 9
500
400 R 9 8
300 S 7 8
200 T 3 5
100
[
P a R 3 T
A) O 220
220
B) O 230
230
(€) O 240
240
(D) O 250 (Correct Answer) (Chosen option)
250
Question No.34

Find the highest length which can be used to measure exactly the lengths 46 m, 69 m, 92 m and 115 m.
Ig ITaaH SaTS AT HINY Forerent ITAHT 46 m, 69 m, 92 m 3R 115 m & TS ol gofa: #a= & forg fomar S Fendr &1
A) O 25
25
(B) O 23 (Correct Answer) (Chosen option)
23
) O 27
27
D) O 29
29

Question No.35

A boy is standing in a lawn facing North direction. If the boy turns 65 degrees in anti-clockwise direction and 155 degrees in clockwise direction, which
will he face now?

Ueh SIS, Toh e § IR 2 & oik Sif v gione @et &1 3 ag et 65 sty ararad f=m # ofik 155 star afeyonad feam & gedr &, at o ag fohe e &t ik aif
(A) O South

o
(B) O West

afgH

(C) O East (Correct Answer) (Chosen option)

(D) O North
IR
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Question No.36

Find the next term in given series.
CHARACTERISTICS, RACTERIST, ARACTERISTI, CTERI, ACTERIS, ?
& 71 sRaeT § STl U T HIfSg)
CHARACTERISTICS, RACTERIST, ARACTERISTI, CTERI, ACTERIS, ?
(A) O RI

RI
B) O TER

TER

(C) O E (Correct Answer) (Chosen option)
E

(D) O ERI
ERI

Question No.37

The question given below consists of a statement, followed by two arguments numbered 1 and 2. You have to decide which of the arguments is a 'stror
argument and which is a ‘'weak’ argument.

Give answer:

(A) If only argument1 is strong
(B) If only argument 2 is strong
(C) If either 1 or 2 is strong

(D) If neither 1 nor 2 is strong and
(E) If both 1 and 2 are strong.

Statement:
Are joint families better than nuclear families?

Argument:
1. Yes, joint families ensure security and also reduce the burden of work.
2. No, it requires more money to run the nuclear family.

A Row g v & vek he 8, s 91e 1 8k 2 @ Temifehd &) adh Ry e €1 suert ag Fofa 1 & o l-aradh Ueh 'vaet’ 9 & iR a-arad 'geer a8
IR AT

(A) Tt dhaat ah 1 vadt &

(B) I Shaet ah 2 el &

(C)aftadh 1 arakh 2 el &

(D) af 7 at Ik 1 UeeT & aAT 7 &1 ddh 2 et & 3R
(E) af& 1 afR 2 31 yeet 81

HY;
FIT YGh URAR, Tohel TRART T gk &1 82

ab:
1. g, Tg<h uRaR grem RATYd ed & JuUT HRIVR & A hed 8
2. 781, Uehel URaR e & foiy 3ifdes e &Y srasgerar gidt &1
A)O C

C
(B) O A (Correct Answer) (Chosen option)

A

©) O

D
D
D)O B
B

Question No.38

Rakesh spends 15% of his monthly income on his household expenditure, 20% on books, 30% on clothes and saves the rest. On counting, he comes to k
he has finally saved Rs.12565. Find his monthly income. (In Rs.)
TehT ST FITIeh ST T 15% S0 TR @F W, 20% foharal R, 30% US| IR & chedl § R AW Gl Tad ST g1 TTUFT e W, I Tl IoAdT 3 foh I9 3fdd: Rs. 1%
TTd Y| ITeh! T 31 T HIITI (Rs. F)
(A) O 37900 (Chosen option)

37900

(B) O 35900 (Correct Answer)
35900
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(©) O 34900
34900

(D) O 36900
36900

Question No.39

Find the sum upto 159 term of the sequence 267, 272, 277, ...
SR 267, 272, 277, ... T 159 UG dch TN A4 Shiferg|

(A) O 103258
103258

(B) O 102258 (Chosen option)
102258

(©) O 104258
104258

(D) O 105258 (Correct Answer)
105258

Question No.40

Directions:
Using the data from the graph answer the question below:
Find the ratio between number of males from the sector T to number of females from the sector S.

Number of Employees working in 5 different

sector Ratic of number of male and
o . - female employees
5 700 o Male Female
700 650 P 6 7
600 Q 5 )
500
400 R ? 8
300 § 7 8
200 T 3 5
100
0
P Q R s i
Rram-fAdar:
G T SAiehel el STTNT cheeh 1 f&T 7T Uy ot SR 2
Jorex T 8 q2uT ot TeaT JUT Yoz S F Afarsil i T & sit< SIuTd F1d hifoig|
Number of Employees working in 5 different
sector Ratio of number of male and
- = . female employees
2 700 L Male Female
700 650 P 4 7
600 Q 5 9
500
400 R ? 8
300 § 7 8
200 T 3 5
100
o
P Q R s T
A) O 56
5:6
(B) O 3:4 (Correct Answer) (Chosen option)
3:4
) O 43
4:3
D) O 65
6:5

MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING - MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING

Question No.1

Based on the three images of dice, find out which of the following numbers comes in the place of A.
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T fi fiF gl & uR W, udar 7 R A i s ) FEfafea J @ oia-ar I endt g1

VDD

(A) O 5 (Chosen option)
5

B) O 2
2

(C) O 3 (Correct Answer)
3

D) O 1
1

Question No.2

Find the odd image out in the given series.
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A S B V E T € W
20 24 80 26
(1) (2) (3) (4)
& 1S ol # ST Bf 71 A
A S B V E T cC W
20 24 80 26
(1) (2) (3) (4)
(A) O 3 (Correct Answer) (Chosen option)
3
B) O 2
2
© O 1
1
©® O 4
4

Question No.3

A box containing the denominations of five rupee coins, two rupee coins and ten rupee coins amount to Rs.1972. There are equal number of coins in all
denominqtic_)ns. What is the total number of coins in the box? . . ! ! .
Qe e | Ue 393, & 30 3R 39 IUY & HegaTl o 1¥deh g, fSiehl dhivd Rs.1972 §1 Gt Jegartt & 991 Oean A s &1 Sie # Riaen] i get T A1 g |
(A) O 348 (Correct Answer) (Chosen option)
348
B) O 328
328
() O 118
118
(D) O 116
116

Question No.4

Two persons A and B, stand at the same point. A walks 5km East, takes a right turn and walks 4km and turns left and walks 3km. B walks 3km towards
turns right and walks 5km; turns right again and walks 11km. How far is A from B? ! !
3} aafh, A 3R B, g9 fig R @ &1 A, 5 km gd &Y 3R TeTar 8, a4 q&aT & S8R 4 km Irar & SR a1¢ JedT & 921 3 km Ierar 81 B, 3 km uff\ i 3R Ierar &, ad g
5 km TeraT g, fORR & 3T¢ gt & ofR 11 km Tt &1 A, B & fohat R &2
(A) O 8km

8km
B) O 13km

13km
(©) O 11km

11km

(D) O 9km (Correct Answer) (Chosen option)
9km

Question No.5

In this question, a passage is given followed by a statement. Read the passage carefully and judge the statement based on the given passage.
A robot inside Amazon's warehouse in New Jersey punctured a can of bear repellant inside the building by accident, releasing toxins that sent 24 worke
hospital. The robot, apparently an automated machine, punctured the can, releasing capsaicin, a substance extracted from chilly and which is used to re
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bears.

Workers who were in vicinity inhaled capsaicin and had to visit a hospital. In total 24 workers were sent for health check-up. "All of the impacted employ
been or are expected to be released from hospital within the next 24 hours. The safety of our employees is always our top priority and a full investigatio
already under way, Amazon said in a statement.

Statement:
Capsaicin is a toxic substance used to repel bears.

Choose the appropriate one from the following options

A -The statement is definitely true

B -The statement is probably true

C -The statement is cannot be determined

D -The statement is definitely false

9 U H, Ueh U & 1< T Terier A wan g1 werier & eae @ ufew ok fRw g merier & SR WR YA @1 SiTher AT |

I ST A ST & e o 3ieY Yo Aaite 3 gEHe-Tasi SHRA & 3ieY Wil T o fertfes veref (der 3die) & st ot dar o o, o frwms wererf a1 Rema gon R
24 siffenT el SRUATA WSl T e, SR IR UR e Watiord #2i, feet ot U &g 3T &, foress Shuwns e o Rema ga, Sit o § fenren ma varef ¢ ik fSiwent 5
TGS el I & forg foma STe 81

STEUTH & &5 § T e aTel BT & FUATERE T o R ok 38 Srudre ST UST AT Gt 24 Siffien aht Tamed ST o forg st mam 11 "aeft genfaa &
3Tt 24 €l o iR sreuara @ ReT fomar mar a1 et g1 & I9f1S § 1 gAR el di gRem gasn & gAR gated UrfiedT § ok O Siid Uge § &1 9 3@ 6, Sieid =
H wgll

HY:

FuaTEfF Uen fawrh ueref & forerent IuaiT Tregait aht o & forg R Smar 81

fafefea foeedt & @ Sugeh U 94
A-my AT T gt g

B- & 9ed: gt g

C- s i =gt fovar <1 har §
D-sheA Rffa wud e &

A O

®) O
©O

D) O

(Correct Answer)

> W OO OO

Question No.6

Replace the question mark with an option that follows the same logic applied in the first pair.
Dog : Puppy :: Swan : ?? i
ysifg ot 39 fahed & ufawenfud RIfSrg St g g | ] dch T SIgER0T dhedl 8l
Dog : Puppy :: Swan : ??
(A) O Puppy
Puppy
(B) O Cygnet (Correct Answer) (Chosen option)
Cygnet
(€) O Foal
Foal
(D) O Kitten
Kitten

Question No.7

On 29 August, 1947, the Constituent Assembly set up a Drafting Committee under the Chairmanship of to prepare a Draft Constitution for Indi
R4 & g T gier fdem duR oA & g 29 e, 1947 & A dfRym g 3 I SremerdT § Ueh Ater 9iAfa &1 we ok
(A) O Pt.J.L.Nehru
ufed S.uat. Age
(B) O Lai Bahadur Shastri
T TGRSl
(€) O Mahatma Gandhi
TETeHT Tieft
(D) O Dr. B.R. Ambedkar (Correct Answer) (Chosen option)
2. ol 3R, s
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Question No.8

In this question, relationship between different elements is shown in the statements. These statements are followed by two conclusions:

Statement:
T<U<E=S;Y<A=<D<S
Conclusions:

N)T<E

ii)Y<D

Choose the appropriate one from the following options

(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i orii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

59 u #, fafva acl & fia & ddu ot wua d gufar mar @1 39 w39 & a91¢ 3 fAeed o ag &

HY:

T<U<E=S;Y<A=<D<S

fAreep:

N)T<E

i Y<D

frmfafed el 3§ @ Iwh Te &1 =1 S|
(A) Faet frehy | SITERUT YT &

(B) et s i SIgERUT e &

(C) Tt i AT ii ST el §

(D) Tt i 3R T &1 i STTEROT AT &

(E) i8R ii qt Srgemor awd &

(A) O E (Correct Answer) (Chosen option)

®) O
© O

() ©

>> OO0 Www m

Question No.9

In which year was the Central Vigilance Commission (CVC) established by the Government?

TIRR GRT e T TachdT AT (CVC) Y g fohg aef &y 7 oft?

(A) O 1994
1994

(8) O 1954
1954
(c) O 1970
1970

(D) O 1964 (Correct Answer) (Chosen option)
1964

Question No.10

How many squares are there in the given figure?
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& 7 STt A R anf &2

(A) O 18 (Chosen option)
18

B) O 21
21

©€) O 20
20

(D) O 24 (Correct Answer)
24

Question No.11

How many such 7s are there in the following number sequence each of which is immediately preceded by 8 or 9 but not immediately followed by 2 or &
8761277973411875797743871872
ffafea e srgerm A B9 fhaw 7 § fS1ch Iieh 9@ &1k Ugt 8 a1 9 ¢ TR &1eh a1& 2 a1 5 81 672
8761277973411875797743871872
(A) O three
Gic

(B) O four (Correct Answer) (Chosen option)
IR

(€) O two
a

D) O five
g

Question No.12

Find the next number in the series.

167,260, 333, 386, 419, ?

Soft § enTelt e g A

167,260, 333,386, 419, ?

A) O 422
422

(8) O 402
402

(C) O 432 (Correct Answer) (Chosen option)
432
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(D) O 412
412

Question No.13

IfE=5F=3G=4H=9thenE+H+FxG=?
gfEE=5F=3G=4H=9 @E+H+FxG=?
(A O 20

20
B) O 15

15
(©) O 27

27

(D) O 17 (Correct Answer) (Chosen option)
17

Question No.14

A man walks 5km towards West; takes a right turn and walks 12km. He then walks 4km towards the starting point and reached the destination. How fai
from the starting position? ; }
Qe &Afch 5 km UfgH & 3R Ieid1 8; 18 78a1 & 3R 12 km =fdr 81 fiR a8 4 km SR foig &l 3R IedT & SR Tided W R Ugd a1 81 98 SRk foig & fenat
(A) O 8km

8km
(B) O 13km (Chosen option)

13km

(C) O 9km (Correct Answer)
9km

D) O 11km
11km

Question No.15

“The Way to Communal Harmony" book is written by which of the following personalities?
'T 3 g R BT IS (feiad # € fohe eafehca g fordt 718 82
(A) O Jawaharlal Nehru (Chosen option)
STATER AT "g&
(B) O Rajendra Prasad
RS-

(C) O Vallabhbhai Patel
JeANTS T

(D) O M. K. Gandhi (Correct Answer)
Tq. &, mieh

Question No.16

If in the number sequence 456 8133456 881, all the odd numbers are increased by three and all the even numbers are decreased by three, then the
number sequence are arranged in ascending order, which will be the fourth digit from the right?

IR = ST 456 8 1334 56 8 81, ot fowm dwemstt # i &t g i St & ofk it w1 deamsit @ i wreran e 8, fthe g S Srgehn &l SIRIE! & |
fora STTa 8, <t < § <t ik si-aTg?

(A) O 6 (Correct Answer)

B) O
©) O

(d) O

(Chosen option)

WwWw ;rul oo o

Question No.17

Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given series?




BN
I ST

fafafEa (1), (2), (3), (4) Teiftha ofadl § & ei=-at, & 18 gjz@ & forg smret ofd ghft?

e | W

1=t |11

i @ EEC
A O

® O
©O
(0 O

(Correct Answer) (Chosen option)

A 22 W NN

GET IT ON

Google Play

Question No.18

Read the information carefully and answer the following question.

A+B means A is the Brother of B
A-B means A is the Sister of B
A*B means A is the mother of B
A/B means A is the father of B

In the given expression P/Q-R+S, how is P related to S?

& T TR @t e @ U ofik rfafad us &1 SR dfSgl

ABEHT AT E A BT 9IS
ABHI A A Bl agae
A*BwHT af g A, BRI AT @

A/BaTAIdE A BarTfoare

feq g =i P/Q - R+ S #, P &7 S T oRyT daley 87
(A) O Mother
af

(B) O Father (Correct Answer) (Chosen option)
e
(€) O Son

kel
(D) O Daughter
el

Question No.19

Which one of the following alternatives will perfectly complete the given figure?



Adda247

i

frfefed e 7 § SiF-aTfaded & 715 STepfd i SHAT & QT H?

i

O

B) O

©) O

(Correct Answer) (Chosen option)

A
A
4
4
N
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(O

N
V.
4

Question No.20

In a certain code language, if GUEST is coded as YKIXW, then how is ROMAN coded in that language?
Te fAfga ge wirer 7, afe GUEST @t YKIXW & &1 & geag foram SraT &, dt 39 99T § ROMAN &Y 36 Geeieg faar smem?

(A) O ILNZM
ILNZM

(B) O SVQRE (Correct Answer) (Chosen option)
SVQRE

(c) O VSQER
VSQER

(D) O TGSUX
TGSUX

Question No.21
If the order of the English alphabet series is reversed, then which letter will be the eighth letter to the right of S?
& ST auiaTeT & oA Sl Feeafid fohaT ST 8, T S & &S iR STTeaT &R HI=-91 gim?
(A) O K (Correct Answer) (Chosen option)
K
®) O

M
M
©)O N
N
DO L
L

Question No.22

Which of the following numbers in the Venn Diagram represents only 'biology, chemistry and maths'?
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3 I A FfeEa A @ sl dwen dhae S, et ok 7o @t it 82

(A) O 11 (Correct Answer) (Chosen option)
1
(B8) O 17
17
) O 14
14
D) O 13
13

Question No.23

Which of the following alphabet in the Venn Diagram represents only Maths?

A O D
D

B O C
c

(C) O A (Correct Answer) (Chosen option)
A

D)O B
B

Question No.24

A stands in the 30th position from the front of the queue and there are 3 persons between A and B. B stands after A. If the first 10 persons are removed

queue then what is the position of B from the front of the queue?
A, Uk & SIRY & 30 § W R TeT & 3R A ik B & g 3 aaf<h &1 B, A & g @I &1 A tfth &, uyw 10 aafhal ot geT feam Siar & af dfth & SR T B ol W &t

(A O 23
23
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(B) O 24 (Correct Answer) (Chosen option)
24

© O 26
26

() O 28
28

Question No.25

The Maulana Azad National Fellowship (MANF) scheme for Minority Students was launched on

SeREgeh BT & fog HieT sireTre TER helfg (MANF) @fsFT &l & & 778 ot

(A) O 11th April, 2009 (Correct Answer)
11 ardieT, 2009

(B) O 11th April, 2008
11 37, 2008

(C) O 11th April, 2007 (Chosen option)
11 378, 2007

(D) O 11th April, 2006
11 a1, 2006

Question No.26

If all the vowels are replaced by the immediate next consonant from the English alphabet series in the word REPOSSESSION, then the letters of the wort
arranged alphabetically, which letter will be second to the left of the sixth letter from the right? '
I e REPOSSESSION #, Toft @Rt et 3fiisht qufaTe o Sieh arTet aiore o a1 wiorenfi fovar St &, ff < 3 91ert ot quifgend & syafea forar siar &, &t ad

& TG GERT SHER €T §RTT?
A) O R
R

(B) O P (Correct Answer) (Chosen option)
©) O

D) O

ZZ MM T

Question No.27

In a certain code language, if ALERT is coded as 11251820, then how is DEBUT coded in that language?
Te fAfgd ge wirer §, afe ALERT @t 11251820 & &0 H ghedsg fhdT SI1dT &, df 39 w91 & DEBUT &l &t Ghedg fohar SIrgm?
(A) O 8752324

8752324

(8) O 4523120
4523120

(©) O 7852423
7852423

(D) O 4522120 (Correct Answer) (Chosen option)
4522120

Question No.28

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
I fareren gfg Sit fig g fachedl & @ gen ST 2reg / T / SeR i 8
(A) O Manager
Manager
(B) O Friend (Correct Answer) (Chosen option)
Friend
(C) O Subordinate
Subordinate

(D) O Colleague
Colleague

Question No.29

Q is the only daughter of R whose wife is S. P is the son-in-law of S. How is P's daughter T related to S?
Q, R &I genetiel 31 & el et S §1 P, S T &G 1 P Rl &8t T ol S 9 &R Taie g2

O
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(A) Granddaughter (Correct Answer) (Chosen option)
P

(B) O Grandmother
FeAawx

(€) O Niece
Bik]

(D) O Cousin
A C

Question No.30

The Declaration on the Elimination of Violence Against Women was adopted by the United Nations General Assembly in the year
Tgh T HETIHT GRT Afgeraii & Qe fgar & Iger Y giwom g o o) 7 oft
(A) O 1981

1981

(B) O 1988 (Chosen option)
1988

(©) O 1979
1979

(D) O 1993 (Correct Answer)
1993

Question No.31

Find the missing term in the series.
13,27,7,335,1679, 10079
Soft ¥ e = I HSg)
13,27,7?,335,1679, 10079
(A) O 83 (Correct Answer) (Chosen option)
83
B) O 81
81
(©) O 65
65
() O 74
74

Question No.32

Replace the question mark with an option that follows the same logic applied in the first pair.

57:6::26: 7
U g ot 39 faehed & a1 Fael St Ugel Sike A A1 deh el STERUT el &

57:6::26:7?
A) O 3
3

(B) O 4 (Correct Answer) (Chosen option)
4

© O

(D) O

= a DN

Question No.33

Find the next number in the series.
24,12,36,18, 54,7
2oft 7 arTeft T Fa RISl
24,12,36,18,54,?
(A) O 27 (Correct Answer) (Chosen option)
27
(8) O 29
29
() O 108
108

O
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(D) 162
162

Question No.34

Which Committee submitted its Report in 2003 on the Reforms of 'Criminal Justice System of India' (CJS)?
I, RA B ATURITA =R JoTTedt & et & forg 2003 & wenfia fomar i o

(A) O Padmanabhaiah Committee
T Al

(B) O Malimath Committee (Correct Answer) (Chosen option)
Aefmy |fafa

(C) O Gore Committee
R gfafq

(D) O Ribeiro Committee

Question No.35

Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
O, LB,Y,K
fafafed uie & @ 9r ue Rffa ®u 3 99 & o: U 99 s &1 378 § HH-91eY 998 § T8 87
O,LB,YK
(A) O K(Chosen option)

K

(B) O O (Correct Answer)
©) O

(d) O

r—r << O

Question No.36

Find the next number in the series.
3,2,514,57,?
Soft F enTelt e Jd g
3,2,514,57,?
(A) O 280
280
B) O 285
285
) O 282
282

(D) O 284 (Correct Answer) (Chosen option)
284

Question No.37

The techniques of determining the gender of the fetus have encouraged:
U F e MuRUT AR A depiepi A &l Wicanied far 1
(A) O Ownership Equality

HHMEAT

(B) O Natality Inequality (Correct Answer) (Chosen option)
«Affer (FRAEY) srawTaT
(C) O Protection of Equality
FATT & TREOT
(D) O Religious Equality
HHTAAT

Question No.38

All persons in a row are facing North, C is 7th to the left of F who is at the extreme right. C has 3 persons on the left. What is the total number of person
row?

Ueh Ufeh & goft cafh STR Y SR Sif¥@ €, C, FF ¥ ¥ 7 d WH R S e B8R R &1 C & a1 3R 3 ek &1 ufch & aafpal Y gpet T et 82
A)O 9
9
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(B) O 11 (Correct Answer) (Chosen option)
11

€) O 13
13

(D) O 15
15

Question No.39

Pointing to a woman, a man said, “Her mother's father's wife is my mother ". How is the man related to the woman?
Qe AfgT I 3R Thd Shed §Y, Uk SITGHT = Thgl, "STh! Af o T Y Ul 3 A 81" 39 SMGH &1 39 Afger § a1 Uil 82

(A) O Aunt
K|

(B) O Father
forar

(€) O Son
kel

(D) O Uncle (Correct Answer) (Chosen option)
Sichet

Question No.40

Pointing to a lady, Ankur said, "She is the mother of mother of brother of my wife." How is the lady related to Ankur’s wife?
Teh AfET il 3R IART T §Y, SR hadT &, "Tg B Ul & TS Y A i A §1" 39 AT i, iR i Ut o q1 1 Tafey 87
(A) O Mother

af

(B) O Grandaunt
Hesrie

(€) O Mother-in-law
q9

(D) O Grandmother (Correct Answer) (Chosen option)
Terer

Save
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